Enclose my personal contribution do IR.
Sorry, but original is available only in Portuguese (Brazil).

Highlight the point that environmental and sustainability questions demand for consumption
reduction, which is function of two factors:

a) Number of inhabitants
b) Average consumption per capita
Total consumption = number of inhabitants x average consumption per capita

So, in the future only corporations engaged on consumption reduction will be sustainable. The
Reports, in this way, may

Reflect the effort to reduce consumption and, therefore, production.
Residual consumption must be directed to equalize consumption of poor people.

Hope part of my contribution could be incorporated into IR on the Criteria’s for a Corporation to be
considered sustainable.



